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Sheep; as it was initially — RIPOYRTS BINDY

OVERVIEW

The X7mx challenged the view of 27 (that 17p pays 21w 12, while ' '7 995 pay
1°72 7MY DYwa) from a Xn»72 which states that he pays 213w Pv2 'm '7 992 (and not
772 772Y0 nYwI). X217 offers a (terse) answer; ‘sheep as they were originally; money
as it is now’. There is a dispute between the >"7 and the n"9 in our Mo01N how to
explain this answer.

= DN YWY NHV PIYDT RYITID 19NYT PNY 199290 NINI)
It seems to the "' that this is the explanation of the s'k723 answer; that (2°X%0 is

XP°ynT2, 1s) referring to a sheep which became a ram -
- )99 1195 RYPIYNTI /Y 71191 33 Y95 BHYWY 'NI9IN IN NNPVONN NYIND N

Or to the case where initially the animal was lean and it became fattened or the
reverse (it was fattened and became lean), then the ruling will be that also the
payment of %92 and similarly the payments of 'm '7 will be X p w»72, just as by

19 and this is the meaning of the Xn»72 (which states °K nwyn 7%v is 21w Pvd). The ®n*02
teaches that the payment of 1 '7 993 is for an animal equal to the size of the animal that was
stolen —

The >"3 continues to explain the meaning of w2y Hwd 0A7:
= PYOY HYH NI NP 139N ©NT VAN

However, concerning the 2’27, which is referring to relative increase and
decrease of the price of the animal (as it was when it was stolen compared to the

current price), 27 maintains that he pays 'm '7 992 as he is worth now -
= 1A% NYYA NNV INMIVP IX IMDT) 29D N NYY HY NHV IMN PNPYY

That we assess the value of that sheep at the time that he was stolen, according

to his largeness or smallness at the time of the robbery -
- >ROYNT X9 NP %95

' mpon is saying that by a wnom 7w the payment of 121 993 is Xp>ynTo. See “Thinking it over’ # 2.

* It appears from this statement '797 12" that when the body of the animal improves (2% 7Y 720 or AWM AWIND),
he pays the X7p°yn73 1P (the lower value); however if the price of the animal rose then 27 agrees with 727 that if
"7 R 02 RNT R ®IP°Yn, then 7°nw W X120 he pays 7 (the higher price). See ‘Thinking it over’ # 1. [Others
maintain however that when N19010 says 772 %5 he is only referring to a case of 7wn21 "W, however by 7wId
7nvsn1 he pays 172 772V YW, ]

? He pays for animal of similar size to the animal he stole (regardless whether the animal grew or shrunk in size);
however we assess the value of that size animal at the current price; not at the price it was worth when he stole it.
For example; he stole a ten pound 770 worth then (at the time of stealing) ten 1. It turned into a fifty pound 2°X
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according to the X711 X771 of now.

moon will now explain the difference. When assessing the size of the animal we assess Xpy 172
and not woy Yw>. However, when we assess the value we assess 1"way Swa:
— 79 5333 RN 7Y IRT DIVN ‘DINIVT NXIYL)

And the reason he pays a multiple of 2389w and not of °?°X, is because the thief

says to the owner; ‘did I steal an ox from you’; he merely stole a 790 therefore he pays

multiples of a 790 -
- s‘[’ﬁ’ﬁ 233 N9IY %Y 9INT NINPYNI NYWINI P41 NIN)

And the same rule applies if he stole a 7wy> and it became fattened; he also
only pays multiples of a 7w, for he says to him; ‘did I steal a fattened animal

from you; he merely stole a 7w and therefore pays the multiples of a 7w, This explains
the ruling of the Xn*>92 that the multiples are of what he stole (whether it is a 750 or a 7wn> [or a
1w for that matter] -

mMooIn now explains that we evaluate the 790 at the current price even if it is more expensive than
it was 12°17 nywa:

— 573910 %23 YD 0905 7Y PR DN ¥2)Y YaN
However, concerning the value of the 150 or the w12 it is inappropriate for the
thief to claim, ‘did I steal an expensive animal from you.’ The fact that the price of a
177V rose does not exempt the thief from paying the current price.

moon adds another reason why we distinguish between the size of the animal (where we go
712°237 nyw>) and the assessed value of the animal (where we assess it 1°72 774V DYWwD):

— PY092 ©991%) 972 INY 99 ’9) 7N‘1‘,7‘T NIYrHaY
And also in the language of the »0o2, the ‘body’ of 921 XX are mentioned in

the mep -
— 5057933 70 1PHND BYY XY 130 MY MY 23) OXVY (3,10 471155 39 19U

worth fifty o1 (at the time of 77°9m1 3m72v). Currently a ten pound 7%V is worth nine (or eleven) 177. The Xn»12
teaches us that he pays 'm '7 93 for a 770 (not for an 7°X), and 21 teaches us that this 720 is assessed 1woy Hw2, that
he pays nine (or eleven) 11; not the ten 17 it was worth 72°337 7vw3a. The same would be true by fw nom 7°nw that he
pays for a n°nw (the ruling of XR1p°¥yn7> O°R7Y), but at the current value ("way Sw> 07a7).

* moon is referring to a case of X Wy 7oY.

> However, by a 7wnaym arnw he pays the multiple of a 1w because indeed 717 *233 71w,

% mooin does not explain why 2 *233 X1p1 1% 7w PX. The simple explanation may be that the thief must pay (the
multiple) for the replacement value of what he stole. If the (original) 791 is now worth eleven 2’11 as opposed to the
initial ten 0°111, the current replacement value is eleven 0°115. The same will hold true if the current value is nine 2°117.
" The 09 in 12,83 (oPwawn) Mnw reads 7WA AN IRY YR MW DRn abwe P2 awnn. The word nnn (in the 770) is the
word 1°’nnn that M501N mentions.

¥ See »"wn there 1 "7 who explains it to mean N> P21PY PwIN; they are not equal to the value of the stolen
nw.
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And we derive from the 0o that if he stole an ox worth a hundred 17 he
cannot pay in its stead five moribund oxen -

— NYD 9 HNH YNRWNT PHIND 22N
For it is written »nnn [in its stead], which indicates that the payment of 'm '7

should be in stead of the body of the ox that he stole -
— NPT DINTV 139N 291 DIV PIDOA 951 WA 9 PYHT DIV

And since the language mentioned in the o9 is of the body of the ox,
therefore we rule that concerning 2°8%% he pays 892°¥%75 for that is what he stole —

MooIN anticipates a question:
— 71174 N2 NNV NYY DYV 29 HY GN)

And even though the payment of ' '7 comes for the moment of 7152w (when the

animal was an 2°X not a 17v), so the thief should pay 1°’nnn of the 2k or 71nw, why is it sufficient
to pay for a 790 or a WD as it was 172°13 NYWwa?

mooIn replies:
— 1195913 NNV PN N2 PN DRY 1T N9 N2 NYVY 19 995 DIPN YN

Nevertheless the moment of stealing is also a cause for the '™ '7 payment, for if

there is no stealing there is no 77955 71M93W, therefore he pays the M as it was nywa

72°137. This is concerning the size of the animal which has to paid -
— PIDOA 17951 PN DN 17 %2 NNIYA DMHYN P YOV DINT YaN

However, concerning the monetary value which is entirely dependent on the

assessment of 7''°2 and are also not mentioned in the o5 -
— 20my 74 R9Y 233W PYI RPIT 1IP5 NN N2 190PINT XYY K920

Logic dictates that we establish by the assessment, the rule that only the 399 is to

be restored as when he stole it but not '/ '7 -
— Mgy AN NIIN PRV 1T %Y P12 NTNRYH NYYS NN

But rather the 'm '7 should be paid 3372 772w nyw> for then 7''52 assess its value
at that time.

? Concerning the type of animal that should be used to repay the multiple of the stolen animal, the 771 emphasized
the animal itself. One is required to pay P2 for a stolen 7p2. Therefore the 213 pays the same 72 (or 717y, etc.) that
he stole. However the 7710 does not state that he pay multiples of the 7p2 "7 that he stole, therefore we assess it at
the current value.

19 See X911 7"7 X,70 MDY that the T of 213w 1D 1P 77N is mainly coming to exclude ' '7; they are not to be
paid 213w > but rather 172 7RV W>.

"It is logical to assume that the exclusion of 7 '7 from 233w P¥ is concerning X911 XpP, for concerning the animal
itself the 7%°% of 1’nnn indicates that the payment should be 213w 1¥3.
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In summation: According to the *"3 the phrase X p°¥175 0°RX>0 refers to the size of the animal to
be assessed. That size is XR1p°¥n7, the size it was when it was stolen. The phrase w2y w> 017
refers to the assessment of the value of the X1°¥1n72 0°R90; the value of the stolen animal is to be
assessed at the current (not stolen) price.

Concerning the size of the animal to be repaid there is the X720 of Tnn 213 X710 which negates
paying for the larger animal and the 109 which emphasizes that the animal to be repaid is nnn
the animal he stole. However concerning 0’17, there is no argument of 747 213 X721 and no P10
only 7"2 nmw, which takes place 172 770Y7 AYW2.

mooIn offers an alternate explanation of YWy 2w 017 RIAPPYATI DOXRHL:
— N9 NIP1Y DINDL 192 PIDIN PRT W91 0N 13929

And the n''1 explains that there is no difference between 2°8%% and X1 X1
as the "1 maintained, but rather -
— DN NWYN NDV 132NT RHIAN 1N 92TYW DINDV XWITVD 291

And this is the explanation; concerning the 2°8%% which the xn>»132 discussed,

that means a R 7wy 7hw -
— NIPIVNTI ROMOIYNT 1INVIY

Where it changed for the better; there is an increase in the price of the animal
from when he stole it, then the payment of M '7 is as the animal was worth

initially, when he stole it
— NYPIYNTD 13777 ZAYaN 91025 XN PIY XIPIPNRT NI NP TR NV

And the same rule applies concerning an increase or decrease in the price of the
animal; where initially it was worth a 17 and at the end it is worth four 27, in

this case as well he pays as it was worth initially, for when 27 ruled that 'm '7is nyw>
P72 TRV -

— P24 9938 XY /1) 71 5y Pnns
29 never meant to be strict by '/ '7 that he should pay the higher price (that which it is
worth later).

The n"1 continues explaining; when the X713 mentions —
— 29902 °9NT 07 Y10 0NT

XNW72 2°17; meaning the 2°»7 which 21 is discussing -
— NIIY 1NYWIT PRIT DY 91029 NYIN DY KIPIYNT 11D

12 Seemingly nooIn means that it is worth '7 at 172 77¥7, for if it was worth '7 at the time of 77°2m1 "2y, then he
pays "7 for the 17p (like 7w R X12n), so why cannot he pay '7 for the 7779011 720 as well, since we are not being
more strict with ' '7 that with the 17p. See however 71"1R for a different view.

3 When 21 ruled that only by 17p it is 213w 3 (for 17P% 77°nR) and not by 'm '7 293, he meant that 7 is more 1N
than "1 795. Therefore 21 cannot be discussing a case where the value increased, for then 121 293 (which pays nyw>
172 77Yi) would be stricter that 17 (which pays 2132 Pv3). See “Thinking it over’ # 3.
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For instance where initially they were worth four 2°177 and at the end they are

worth a 1t where the change was for the worse -
— YWY HWI 29 MNP N*NNA

In that case 39 maintains that the payment of '77 '7 is according to the current

value -
— 1YY YYD MNNT NYWININI NINIY 1D DINDVA P11 NI

And the same rule will apply by 2°8%v if for instance it was fattened when he
stole it and it became lean that the payment of ' '7 is as its value is now.

In summation: According to the n"9 whenever there is an increase in the value of the animal
(whether 71nwm WD 2R WY 790 or X2 RIPY), he pays the initial value; this is the meaning
of X1 wn7d (°R awyn) o°rkbv. However when there is a decrease in the value of the animal (this
refers to °n7), the 'M 'T payments are 1wy Hwa.

MooIN anticipates a question:
— AW PYI NYININ N1NY *9ruY aNT 8D

And that which the Xn>72 ruled previously by a wsnam 79»w that he pays 'm '7

as it was worth when he stole it; this contradicts the view of the n"3 that payment of ' '
is always the lower price.

mooIn responds:
$ 02792 NYWININA NPIT D P29

It is necessary to answer; that X072 is discussing specifically a case where the

213 made it weaker with his hands. Therefore he is required to pay the higher (initial)
price, as the X ma stated there X375 790p 2 nn 7912 7%vp °2 n. However when it was a nwnan
X217 (by itself) or a drop in price, the payment of '71'7 is always the lower price.

SUMMARY

According to the *"1, we assess the animal that he stole at the current price.
According to the n"9, the thief pays M "7 according to the lowest price regardless
whether it is on account of growth or price fluctuation.

THINKING IT OVER

14 See ¥,70 where the X713 states X7 XMW ‘110351 T R RIPIYAT A 27 KRR 2.

15 The difference between the >"1 and the n"1 will be in a case of [X?an] Awnom a1 or where the price of the
animal increased. According to the *"1 he pays (for 'm "7 793) the higher value (the n2»w or the increase in price),
however according to the n"< he always pays the lower price.

16 %,70.
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1. It appears from the >"9 that by mnvonn 7wnd he pays the 17 as a mwina."”
Seemingly the reason why in the case of '7 XMW 710271 X7 XMW Xy and he was
7N X02n, he pays '7 because the 7w 812N is considered as 77°1a7 nyw and he
pays 12°1a7 nyw> when it was worth 7. The same should apply by nnwnm qwind
that if he was 79m 12V when it was a 71°nw, that the 7179 should be 797137 nyw,
when he was 79m1 nav a nraw!'®

2. According to the *"1 by a mwn2m 1w the payment of 993 is Xp°vn72."” Why
cannot the 213 claim since the animal was a 71> at the time of 77°2m1 72w, why
should I pay 'm '7 for a mrnw?!*

3. According to the n"7 in a case where the value increased”, let the ruling be that
both 17 and 121 295 pay the higher value 172 772v7 NYWa?

17 See footnote # 2.

18 See M1 MIX 1" "M ,R"M1 ,20 MR DY Y.
19 See footnote # 1.

2 See 7"ARY A" MR DNV PA.

2 See footnote # 13.
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